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2. 4 +Axy+9y? = (Bx+Cy)? 4 0], o] & THESh= Al A4 A, B, C
o Fe F?

O 14 @ 15 ® 16 @17 ® 18

B ‘

(Bx + Cy)? = B%x? + 2BCxy + C?y?
= 4x% + Axy + 9y?

B=2 C=3 A=12

A+B+C=12+24+3=17




3. (r+4)a-4)-6x=(x+a)x+b) L, ab ] AL Ftolet

> E.

> =g 10

B

(x+4)(x—4) —6x = x*> - 6x—16
=(x+2)(x-8)
_ (+a)(z+D)

a®t b o] A= 2 - (-8) = 10 ]t




4.

6x* - 17x—A 7t x -3 & & 7Hd o, e 55

> E.

> Hehl 6x+1

sholat,

B

o2 Ql4E gx + b} 51H

(ax+b) (x-3) = ax*> + (b -3a) x — 3b
=6x2 — 17x — A A]

a=6

b-3a=-17, b=1

oA OhE Qg x4+ 1




5.

T o|AFA] 22 —3x—4 2} 2x2 - 11x + 12 9

® x-1 (@)x—4

@ 2x-3 ® 2x+3

¥ -3x-4=(x-4)(x+1)
2x2 = 11lx+ 12 = (2x - 3) (x — 4)




6x2+5x—a=(2x+b)(3x+7) 7t HEZ

© -24 @ -18 ® -10

B

6x% +5x—a = (2x+ b)(3x + 7)
= 6x? + 14x + 3bx + 7b
=6x2+ (14 +3b)x + 7h
14+3b=5, Tbh=-a,b=-3,a=21
ca-b=21-(-3)=24




7.  xof T3t olAA &2 fax+4 9 S AFTx+1 L W], a9 322

® 1 @ 2 ® 3 @1 @)

T2 A5 x+ A 2 5,
(x+1)(x+A) =x*>+A+1)x+A
=x>+ax+4




X 42 - 9x -9 5 AR Y
(x+a)(x+b)(x+c) 7t =AUt oW a + b + ¢ O] FF2?

x(x2-9)+(x*-9) = (x2-9)(x+ 1
=x+3)(x=3)(x+1)
Ot a=3,b=-3,c=1°22

a+b+c=10°]|c}.




EXd?b+ab-a-1,d2 -ab+a-b 2 B
=
r=

>
> He a+1

~&B

a’b+ab-a-1=ab(a+1)-(a+1)
=(a+1)(ab-1)

a’—ab+a-b=a(a-b)+ (a->b)
=(a-b)(a+1)




10. y<x<0 €™, /x2-2xy+y2+ /22 + 2xy + y2 = {FHo] o}H?

@ o @ 2x-2y ® 2x

@ 2y @—Qy

VE=-9)2+ /(x+y)?2 =lx-y+Ix+yl
=x-y-(x+y)=-2




11.

OE‘ off, abc —4 %I%?

® 5 @ 12 ®)-36 @ 36 ® -18

B ~
A AolE 2x% — 14x — 36 A 353 -36 = A BY L,
SdolE 2x% - 6x + 4 oA x O] A5 -6 = A HSlh
whbA] 2x2 — 6x — 36 = 2(x — 6)(x + 3)

La=2,b=6, c=-3
..abc = -36




12, th2of Foi7 =9
RS o AALY O] 7t2 T
1=2M?

32 °l&

E= Al=ze] del7t
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6x2+11x+4 = (2x+1)(3x+

4) o|BE R A 9] 7= ot /
N2 o] Zol=3x+4 9 2x+1
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13.

S 5 (22 4 4x)? + 3(x* 4+ 4x) -4 S A5ES] HS o,

@ x? +4x @ x-2 ((@(x—k@2

@ 2+4x+1 ® x24+4x+3

B

x2 4 4x =t 2 | golH
P+3t—4=(-1)(t+4)
= (2% +4x—1)(x* + 4x +4)
= (x® +4x—1)(x+2)?




(x2 —4)(x? = 1) —40 = x* - 5x2 - 36
=(x2-9)(x2+4)

= (x+3)(x=-3)(x2 +4)




15, x? —dxy +4y? - 22 & QIg-Ealisk=tl AF&H Ql=af
FI2H? (HF, a>0,b>0)

® a®+ 2ab+ b* = (a + b)?
@)a? - 2ab + b? = (a - b)?
@)a? -2 = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

X2 — dxy + 4y? — 22
=(x-2)?%-22>d?>-2ab+b* = (a-b)?
=(x-2y+2)(x—2y—2) >a®>-b?> = (a+b)(a-b)




16. x* - 10x* +99] 57} obd 2?2

D x-1 @ x+3 @ x?-1
@x+9 ® x*-10x2+9

(2 -1)(x*-9) = (x+1)(x=1)(x+ 3)(x = 3)




17.

3k wio] 2ol7} 1 9l A ABCD 7} it o] Azt e] izl
AC 9] ol V2 ola, A A B F4HOoR skl thzbd AC B WA
o7 S Mg 19 $443 9

W, a2 - 52 9] g ToHH?

o D—=L
.y A By
-1 a 0 1 2 b 3
® V2 @1- V3 @)-1v2
@ -2+2 ® -2

P(a) =1- 2
Q( )=1+ V2
a’>-b*> = (a+b)(a-b)

=(1-V24+14+V2)(1- V2-1-V2) = -4V2




@ W] Zol7k 22t aem , bem Q) BAZNY 2 AU 7HES
E"—}%% . o] F 7t=9 EE]—’] Zo]9] go] 80 cm ©]al ¥ o] x}7}
100 cm? ,3_1 o, £ 7t= 9] Sd o] Zo]9] 2= LaFH?

-acm-
bem
£ | [4

@ 5cm @)20cm @ 40cm @ 60cn ® 80cm

4(a+b) =80°1B= a+b=20
a*> = b* = 100912 & (a + b)(a - b) = 100
a-b=>5

4(a-b) =4x5=20




19. (x+y+4)(x—y+4)-16x S HI2A] A5t A9

D (x—y+4) @ (x+y-4)?
® (x-y-2)(x+y+8) @ (x+y-1)(x-y-1)

® (~x-y+4)(x-y+4)

~&B

x+4 =12t
(t+y)(t—y) - 16x
=1 -y - 16x
= (x+4)?-16x -y
= (x? +8x+16—16x)
= (x? - 8x + 16) -
— (- 47 -7
=(x+y- 4)(x y—4)




20. 2(x+2)2 4 (x+2)Bx—1) = 3x = 1)2 = —(ax + b)(cx + d) & U,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1




Al

21. g4=s &4

fllo

L

rlm

A2

flo

@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@x3+x2+x—|—1:(x2+1)(x+1)
@xy-1-20-1) = -2 -1




22,

o+2 194 oABEF 2} oFHGD 7} Ak
219 2 ufj, A}ZH HECG ol yolEa, bl
et Ao g2 YehdH & QlpEalistH (a -
b)(ta+ sb) °Itt. 1+ s &] & T2

UU/’—Q‘“

>
O EHE r+s5=1

_-a--

A2+ ABFE, EGHD = AAMzZtgo|ng
HE=b-(a-b)=2b-a,EC=a-b

"2 A 9] "ol (26 - a)(a—b) °lH.
webA r= -1, s=20|E& 45 =1 °Jc}.




23. UYL a, b, coll St A=a+b+ab,B=b+c+bc,C=c+a+ca
0|11, A+B+C=33,A-B+C=-1,A+B-C=11¥9 9, a+b+c
o ghe ateler.

A+B+C=33 Q)

A-B+C=-1 - ©

A+B-C=11 ©
Q-0 oA 2B =34

Q@ -© oA 2C¢ =22

© + © A 24 =10
~A=5B=17,C=119°B2
5=a+b+ab°lA (a+1)(b+1)=6
17T=b+c+bcolA (b+1)(c+1)=18
N=c+a+calA (c+1)(a+1)=12
Al A E“l——]—o]'tq

{a+1)(b+1)(c } =6x18x12
g (a+1)(b+1)(c+1) =36
c+1=6,c=5

a+1=2,a=1
b+1=3,b=2
ca+b+c=8




24. 15x7.62-742x15 9] gre?

@ 55 @ ® 35 @ 15 ® 10

~&B

(£4]) =15 x (7.62 - 7.42)
= 15X (7.6 + 7.4) x (7.6 - 7.4)
=15%x15x%x0.2
=45




>
> FHE: —20v2

! A, xt—x2 -yt +y2 9] FES

Fafolat,

1
BRCES I «f 1
x=1V2-1,y=V2+1
'..x4_x2_y4_’_y2
=xt =yt - (¥ -»?)
= (=) (" %) - (¢ -»?)
= (x* -y*)(x* +y* - 1)
= {(v2-17 - (V2 +17}
{(V2-12+ (V2 +1)% - 1}
= (-4V2) x5
=-20V2

of|A]




